vigenere chiffre nb(x,a,b):
return (a*xtb) %26

inverse(a):
y=I0
while (a*y%26!=1}):
y=y+1
return y

vigenere dechiffre nb(x,a,b

)
return (inverse(a) * (x-b)) %26

vigenere chiffre mot (mot,a,b):

message code = []
for lettre 1n mot:
nb = ord(lettre) -5

nb crypte = vigenere chiffre nb(nb,a,b)
lettre crypte = chr(nb cryptet+é5’)
message code.append(lettre crypte)
message code = "".Jjoln(message code)
return (message code)

vigenere_attaque{mot]:
for a 1n range(26):
print (vigenere dechiffre mot (mot,a,1))

vigenere dechiffre mot (mot,a,b):

message_code = [1
for lettre in mot:
nbh = ord(lettre) -5

nb clair = vigenere dechiffre nb(nb,a,b)
lettre clair = chr(nb clair+65)
message code.append(lettre clair)
message code = "".join(message code)
return (message code)

vigenere chiffre nb(x,a,b):
return (a*xtb) %26

inverse(a):
y=I0
while (a*y%26!=1}):
y=y+1
return y

vigenere dechiffre nb(x,a,b

)
return (inverse(a) * (x-b)) %26

vigenere chiffre mot (mot,a,b):

message code = []
for lettre 1n mot:
nb = ord(lettre) -5

nb crypte = vigenere chiffre nb(nb,a,b)
lettre crypte = chr(nb cryptet+é5’)
message code.append(lettre crypte)
message code = "".Jjoln(message code)
return (message code)

vigenere_attaque{mot]:
for a 1n range(26):
print (vigenere dechiffre mot (mot,a,1))

vigenere dechiffre mot (mot,a,b):

message_code = [1
for lettre in mot:
nbh = ord(lettre) -5

nb clair = vigenere dechiffre nb(nb,a,b)
lettre clair = chr(nb clair+65)
message code.append(lettre clair)
message code = "".join(message code)
return (message code)



